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Solution 1: We are told there are 36 total bears and 3 types of 
bears at the zoo. 

If 5/6 of the bears are not polar bears, then 5/6 × 36 = 30 of 
the bears are either black bears or grizzly bears. 

If 25% of the bears are grizzly bears, then 0.25 × 36 = 9 of 
the bears are grizzly bears.

That means there are 30 – 9 = 21 black bears at the zoo.

Solution 2: Alternatively, if 5/6 of the bears are not polar 
bears, then 1/6 × 36 = 6 of the bears are polar bears. 

If 25% of the bears are grizzly bears, then 0.25 × 36 = 9 of 
the bears are grizzly bears.

Subtracting the number of polar bears and grizzly bears from 
the total number of bears, we get 36 – 6 – 9 = 21 black bears.
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A zoo has 36 total Grizzly bears, 
black bears & polar bears. If 5/6 are 
not polar bears and 25% Are grizzly 

bears, how many are Black bears?


